Pay Estimate Created Date: June 1, 2023

Progress Estimate N 8	umber	Contract ID Prime Contractor	221118-D04 r Gene Haile Exca	avating, Inc.			Original Contract Amount Net Change Order Amount Current Contract Amount	\$800,804.10 \$3,938.80 \$804,742.90		
Approval Date								By User		
June 1, 2023		he Project Office Level by	malonm							
June 1, 2023	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by									
June 5, 2023			I	Reviewed ar	nd Approved at the 0	Central Office (Controllers Office Level by	ramses1		
Original Completion	n Date	of Current Contract Amount (Amount Complete							
June 18, 2023		June 1	8, 2023	N	May 22, 2023	97.97%				
	Contract	Informational Dat	es		Mileston	es				
Date Description	Original	Completion Date	Current Comple	tion Date	No Milestones Exist	for Contract				
Acceptance Date										
Awarded Date	Decembe	er 6, 2022	December 6, 202	2						
Letting Date	Novembe	er 18, 2022	November 18, 20	22						
Notice to Proceed Date	January 9	9, 2023	January 9, 2023							
Open to Traffic Date										
Work Began Date										

Contract Total Pay For Estimate No. 8				
	This Estimate	Previous	To Date	
221118-D04				
Total Posted Items Pay	\$113,781.20	\$674,642.20	\$788,423.40	
Gross Item Adjustments	(\$4,113.46)	\$0.00	(\$4,113.46)	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
		<mark>\$674,642.20</mark>	\$784,309.94	
Contract Total Payable This Estimate:	\$109,667.74			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5S3446	0020	2153000	SHAPING SLOPES, CLASS III	100F	\$1,750.000	8	\$14,000.00
	0030	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$12.000	267	\$3,204.00
	0040	4019905	MISC.Optional Pavement	SQYD	\$89.000	227.8	\$20,274.20
	0100	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$1.200	804	\$964.80
	0110	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$1.200	461	\$553.20
	0120	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$3,500.000	0.2	\$700.00
	0130	8025006	MULCHING	ACRE	\$7,500.000	0.25	\$1,875.00
	0140	8051000A	SEEDING - COOL SEASON GRASSES	ACRE	\$12,500.000	0.25	\$3,125.00
	0190	6061060	MGS GUARDRAIL	LF	\$39.000	250	\$9,750.00
	0200	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$4,200.000	4	\$16,800.00
	0210	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$4,050.000	4	\$16,200.00
	0220	2162500	REMOVAL OF EXISTING BRIDGE DECK	SQFT	\$7.000	360	\$2,520.00
	0230	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	SQYD	\$100.000	88	\$8,800.00
	0240	7034212	SLAB ON STEEL	SQYD	\$385.000	39	\$15,015.00
Project J58	53446 - Tot	al					\$113,781.20
Overall - T	otal						\$113,781.20



Pay Estimate Created Date: June 1, 2023

Progre		imate Number 8 Prime Cont		I8-D04 Haile Excavati	Pay Period Start May 16, 2023 Origi ng, Inc. Pay Period End June 1, 2023 Net C Curre		r Amount \$	800,804.10 3,938.80 804,742.90
ne Item /	Adjustn	nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmen amount
J5S3446	0030	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	267	(\$0.24)	(\$63.68
	0030	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material			-267	\$12.00	(\$3,204.0
	0030	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user malonm overridding Payment Estimate Exception 1 on the current Payment Estimate.	267	\$12.00	\$3,204.00
	0030	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Adjustment	Fuel Price	Line 0030 Type 1 Aggregate Base: Fuel System calculated for pay quantity only. Incorrect. +\$63.68			\$63.68
	0030	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Adjustment	Fuel Price	Line 0030 Type 1 Aggregate Base: Fuel Calculating for placed quantity. 285 SY -\$67.97			(\$67.9
	0040	MISC.	Other Item Adjustment	Fuel Price	Line 0040 Optional Pavement: Fuel -\$1,177.91			(\$1,177.9
	0040	MISC.	Other Item Adjustment	Asphalt Cement Price Adjustment	Line 0040 Optional Pavement: AC Adjustment -\$234.09			(\$234.09
	0040	MISC.	Other Item Adjustment	Substandard Item	Line 0040 Optional Pavement: -\$2,534.00 Pavement Thickness Deduction. QC cores 1" deficient on thickness. Measure 9" out of expected 10" total pavement thickness. The 1" out of 10" yields a 10% deficiency. Total Optional Pavement dollar amount is \$25,338.30, and a 10% deduction from this amount yields a \$2,534.00 deduct.			(\$2,534.00
	0140	SEEDING - COOL SEASON GRASSES	Material			-0.25	\$12,500.00	(\$3,125.00
	0140	SEEDING - COOL SEASON GRASSES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user malonm overridding Payment Estimate Exception 2 on the current Payment Estimate.	0.25	\$12,500.00	\$3,125.00
	0230	BRIDGE APPROACH SLAB (MINOR ROAD)	Other Item Adjustment	Asphalt Cement Price Adjustment	Line 0230 Bridge Approach Slab: AC Adjustment -\$99.49			(\$99.49
Fotal								(\$4,113.46



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J5S3446	FAS S402(76)	Bridge rehabilitation	В	GASCONADE	over the Dry Fork Cr	eek approximately 2 miles so	outh of Route 28 near Bland
Totals by .	Job Numbe	rs					
J5S3446					This Estimate	Previous	To Date
	Poste	d Item Pay			\$113,781.20	\$674,642.20	\$788,423.40
	Gross	Item Adjustm			(\$4,113.46)	\$0.00	(\$4,113.46)
			Gross	Item Pay	\$109,667.74	\$674,642.20	\$784,309.94
	Incen	live			\$0.00	\$0.00	\$0.00
	Dising	entive			\$0.00	\$0.00	\$0.00
	Liquid	lated Damages			\$0.00	\$0.00	\$0.00
		Contract Adju					

Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSS3446, Item 3040143, Project Item Line Number 0030, Material Set 304014396, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	Line 0030 - Type 1 Aggregate for Base: Waiting on QC Density Test report. Have verbal results.	malonm	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3446, Item 8051000A, Project Item Line Number 0140, Material Set 8051000A96, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Line 0140 - Seeding: Partial pay only. Waiting on remaining material documentation for lime, fertilizer, seed, and straw.	malonm	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted am Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221118-D04	J5S3446	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$5,800.00	\$5,800.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	8.00	0.00	8.00	100F	8.00	\$1,750.00	\$14,000.00
		0001	0030	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	267.00	0.00	267.00	SQYD	267.00	\$12.00	\$3,204.00
		0001	0040	4019905	MISC.Optional Pavement	266.70	0.00	266.70	SQYD	227.80	\$89.00	\$20,274.20
		0001	0050	6161005	CONSTRUCTION SIGNS	663.00	209.00	872.00	SQFT	872.00	\$7.60	\$6,627.20
		0001	0060	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	-2.00	0.00	EA	0.00	\$48.60	\$0.00
		0001	0070	6161030	TYPE III MOVEABLE BARRICADE	14.00	-4.00	10.00	EA	10.00	\$156.60	\$1,566.00
		0001	0080	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,250.00	\$6,500.00
		0001	0090	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$59,300.00	\$59,300.00
		0001	0100	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	804.00	0.00	804.00	LF	804.00	\$1.20	\$964.80
		0001	0110	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	563.00	0.00	563.00	LF	461.00	\$1.20	\$553.20
		0001	0120	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.70	\$3,500.00	\$2,450.00
		0001	0130	8025006	MULCHING	0.40	0.00	0.40	ACRE	0.25	\$7,500.00	\$1,875.00
		0001	0140	8051000A	SEEDING - COOL SEASON GRASSES	0.40	0.00	0.40	ACRE	0.25	\$12,500.00	\$3,125.00
		0001	0150	8061005	ROCK DITCH CHECK	80.00	0.00	80.00	LF	0.00	\$17.00	\$0.00
		0001	0160	8061016	SEDIMENT REMOVAL	18.00	0.00	18.00	CUYD	0.00	\$10.00	\$0.00
		0001	0170	8061019	SILT FENCE	800.00	0.00	800.00	LF	0.00	\$3.10	\$0.00
		0001	0180	8061050	TYPE C BERM	345.00	0.00	345.00	LF	200.00	\$17.00	\$3,400.00
		0010	0190	6061060	MGS GUARDRAIL	250.00	0.00	250.00	LF	250.00	\$39.00	\$9,750.00
		0010	0200	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$4,200.00	\$16,800.00
		0010	0210	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$4,050.00	\$16,200.00
		0070	0220	2162500	REMOVAL OF EXISTING BRIDGE DECK	7,210.00	0.00	7,210.00	SQFT	7,210.00	\$7.00	\$50,470.00
		0070	0230	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	110.00	0.00	110.00	SQYD	88.00	\$100.00	\$8,800.00
		0070	0240	7034212	SLAB ON STEEL	775.00	0.00	775.00	SQYD	775.00	\$385.00	\$298,375.00
		0070	0250	7034219A	TYPE D BARRIER	523.00	0.00	523.00	LF	523.00	\$75.00	\$39,225.00
		0070	0260	7049907	MISC.FILL VOIDS UNDER BENT	3.00	0.00	3.00	CUYD	3.00	\$600.00	\$1,800.00
		0070	0270	7121159	SHEAR CONNECTORS	2,088.00	0.00	2,088.00	EA	2,088.00	\$7.50	\$15,660.00
		0070	0280	7121250	STRENGTHENING EXISTING BEAMS	1.00	0.00	1.00	LS	1.00	\$185,000.00	\$185,000.00
		0070	0290	7123610	SLAB DRAIN	28.00	0.00	28.00	EA	28.00	\$400.00	\$11,200.00
		0070	0300	7126000	NON-DESTRUCTIVE TESTING	54.00	0.00	54.00	LF	54.00	\$45.00	\$2,430.00
		0001	5001	2142000	FURNISHING ROCK FILL	0.00	53.00	53.00	CUYD	53.00	\$40.00	\$2,120.00
		0001	5002	2143000	PLACING ROCK FILL	0.00	53.00	53.00	CUYD	53.00	\$18.00	\$954.00
					Date as of Report Generated Date							\$788,423.40
221118-D04 Ove	erall - Total	Value Pos	ted to Da	te as of Rep	ort Generated Date							\$788,423.40



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Jumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2153000	SHAPING SLOPES, CLASS III	6/1/23	6/1/23	8.00	100F	Line 0020 Class III Shaping Slopes: Widening for guardrail LL Sta. 113+10 to 114+53 LL Sta. 117+4 to 119+32 RL Sta. 117-40 to 119+32 RL Sta. 117-40 to 118+51 Pay = 8 STA (100 FT)	Mile		IVIIG		Line 0020 Class III Shaping Slopes: Widening for guardrail LL Sta. 113+10 to 114+53 LL Sta. 117+4 to 119+32 RL Sta. 112+29 to 114+47 RL Sta. 117-06 to 118+51 Pay = 8 STA (100 FT)
0030	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	6/1/23	6/1/23	267.00	SQYD	Line 0030 Type 1 Aggregate For Base Base for pavement Sta. 113-80 to 1144-30 Sta. 117+31.36 to 117+81.36 Plan = 267 SY at 24' width					Line 0030 Type 1 Aggregate For Base Base for pavement Sta. 113+80 to 114+30 Sta. 117+31.36 to 117+81.36 Plan = 267 SY at 24' width
							Width placed to match existing pavement. 25.25' width for 113+80 to 114+30 26' width for 117+31.36 to 117+81.36 Measured quantity = 285 SY					Width placed to match existing pavement. 25.25' width for 113+80 to 114+30 26' width for 117+31.36 to 117+81.36 Measured quantity = 285 SY
							Pay up to plan until change order is processed. Pay = 267 SY					Pay up to plan until change order is processed. Pay = 267 SY
0040	4019905	MISC.	6/1/23	6/1/23	227.80	SQYD	Line 0040 Optional Pavement Sta. 113+80 to 114+30 Sta. 117+31.36 to 117+81.36 Plan = 266.7 SY at 24' width					Line 0040 Optional Pavement Sta. 113+80 to 114+30 Sta. 117+31.36 to 117+81.36 Plan = 266.7 SY at 24' width
							Width placed to match existing pavement. 25.25' width for 113+80 to 114+30 26' width for 117+31.36 to 117+81.36 Measured quantity = 284.7 SY					Width placed to match existing pavement. 25.25 width for 113+80 to 114+30 26' width for 117+31.36 to 117+81.36 Measured quantity = 284.7 SY
							Waiting on QC test results for cores. Pay 80% 0.80 x 284.7 = 227.8 Pay = 227.8 SY					Waiting on QC test results for cores. Pay 80% 0.80 x 284.7 = 227.8 Pay = 227.8 SY
0100	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	6/1/23	6/1/23	804.00	LF	Line 0100 4" White Standard Waterborne Pavement Marking Paint Solid white edge lines Sta. 111+89 to 119+18					Line 0100 4" White Standard Waterborne Pavement Marking Paint Solid white edge lines Sta. 111+89 to 119+18
							Measured quantity = 1458 LF Plan = 804 LF Nighttime drive-thru check of reflectivity is ok.					Measured quantity = 1458 LF Plan = 804 LF
							In accordance with EPG 620.12.2.4, can pay 80%. 0.80 x 1458 = 1166 LF					Nighttime drive-thru check of reflectivity is ok. In accordance with EPG 620.12.2.4, can pay 80%. 0.80 x 1458 = 1166 LF
							Pay up to plan until change order is processed. Pay = 804 LF					Pay up to plan until change order is processed. Pay = 804 LF
0110	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	6/1/23	6/1/23	461.00	LF	Line 0110 4" Vellow Standard Waterborne Pavement Marking Paint Intermittent centerline Sta. 111+89 to 119+18 Solid yellow centerline stripe on southbound side Sta. 115+32 to 119+18					Line 0110 4" Yellow Standard Waterborne Pavement Marking Paint Intermittent centerline Sta. 111+89 to 119+18 Solid yellow centerline stripe on southbound side Sta. 115+32 to 119+18
							Measured quantity = 576 LF Plan = 563 LF					Measured quantity = 576 LF Plan = 563 LF
							Nightlime drive-thru check of reflectivity is ok. In accordance with EPG 620.12.2.4, can pay 80%. 0.80 x 576 = 461 LF Pay = 461 LF					Nighttime drive-thru check of reflectivity is ok. In accordance with EPG 620.12.2.4, can pay 80%. 0.80 x 576 = 461 LF Pay = 461 LF
0120	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	6/1/23	6/1/23	0.20	LS	Line 0120 Contractor Surveying: Bridge R0500/R05001 Stringline grade for pavement off north end of bridge (Bent 1). Pay = 0.2 LS					Line 0120 Contractor Surveying: Bridge R0500/R05001 Stringline grade for pavement off north end of bridge (Bent 1). Pay = 0.2 LS
0130	8025006	MULCHING	6/1/23	6/1/23	0.25	ACRE	Line 0130 Mulching Slopes and ditches Sta. 113+45 to 118+50					Line 0130 Mulching Slopes and ditches Sta. 113+45 to 118+50
							Measured quantity = 0.5 ACRE Plan = 0.4 ACRE					Measured quantity = 0.5 ACRE Plan = 0.4 ACRE
							Have partial material documentation overspray. Lacking straw documentation. Pay 50% 0.50 x 0.5 = 0.25 ACRE					Have partial material documentation overspray. Lacking straw documentation. Pay 50% 0.50 x 0.5 = 0.25 ACRE
0140	8051000A	SEEDING - COOL SEASON GRASSES	6/1/23	6/1/23	0.25	ACRE	Pay = 0.25 ACRE Line 0140 Seeding - Cool Season Slopes and ditches Sta. 113445 to 118+50					Pay = 0.25 ACRE Line 0140 Seeding - Cool Season Slopes and diches Sta. 113+45 to 118+50
							Measured quantity = 0.5 ACRE Plan = 0.4 ACRE					Measured quantity = 0.5 ACRE Plan = 0.4 ACRE
							Have partial material documentation – fertilizer & oats. Fertilizer documentation does not show sufficient quantity. Lacking lime, fertilizer, and seed documentation. Pay 50% $0.50 \times 0.5 = 0.25$ ACRE					Have partial material documentation – fertilizer & oat Fertilizer documentation does not show sufficient qua Lacking lime, fertilizer, and seed documentation. Pay 50% 0.50 x 0.5 = 0.25 ACRE
0190	6061060	MGS GUARDRAIL	6/1/23	6/1/23	250.00	LF	Pay = 0.25 ACRE Line 0190 MGS Guardrail					Pay = 0.25 ACRE Line 0190 MGS Guardrail
							Guardrail placements off corners of bridge: LL Sta. 113+10 to 114+53 yields 25 LF LL Sta. 117+14 to 119+32 yields 100 LF RL Sta. 112+29 to 114+47 yields 100 LF RL Sta. 112+09 to 114+61 yields 25 LF Pay = 250 LF					Guardrail placements off corners of bridge: Lt. Sta. 113+10 to 114+53 yields 25 LF Lt. Sta. 117+14 to 119+32 yields 100 LF Rt. Sta. 112+29 to 114+47 yields 100 LF Rt. Sta. 117+08 to 118+51 yields 25 LF Pay = 250 LF
0200	6061069	MGS BRIDGE APP. TRANS SEC (REGINO CURB)	6/1/23	6/1/23	4.00	EA	Line 0200 MGS Bridge Approach Transition Section Guardrail placements of corners of bridge: LL Sta. 13 ⁺⁰ to 114+53 yields 1 EA LL Sta. 13 ⁺⁰ to 114+53 yields 1 EA RL Sta. 112 ⁺² U 114+47 yields 1 EA RL Sta. 112 ⁺² U 114+47 yields 1 EA Pay = 4 EA					Line 0200 MGS Bridge Approach Transition Section Guardrail placements of bridge: Ll: Sta. 113-410 to 114-53 yields TEA Ll: Sta. 117-414 to 119-32 yields TEA RL: Sta. 112-20 114-473 yields TEA RL: Sta. 112-20 114-473 yields TEA Pay = 4 EA
0210	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6/1/23	6/1/23	4.00	EA	Line 0210 Type A Crashworthy End Terminal Guardrali placements of foromers of bridge: LL Sta. 113+10 to 114+53 yields 1 EA LL Sta. 117+14 to 119+32 yields 1 EA RL Sta. 112+20 to 114+47 yields 1 EA RL Sta. 117+08 to 118+51 yields 1 EA Pay = 4 EA					Line 02:10 Type A Crashworthy End Terminal Guardrail placements of bridge: LL Sta. 113+10 to 114+53 yields 1 EA LL Sta. 117+14 to 119+32 yields 1 EA RL Sta. 117+02 to 114+47 yields 1 EA RL Sta. 117+08 to 118+51 yields 1 EA Pay = 4 EA
0220	2162500	REMOVAL OF EXISTING BRIDGE DECK	6/1/23	6/1/23	360.00	SQFT	Line 0220 Removal of Existing Bridge Deck: Bridge R0500/R05001 Complete					Line 0220 Removal of Existing Bridge Deck: Bridge R0500/R05001 Complete

Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
							Pay 100% Plan = 7210 SQFT Previous Pay = 6850 SF 7210 - 6850 = 360 SF Pay = 360 SF					Pay 100% Plan = 7210 SQFT Previous Pay = 6850 SF 7210 - 6850 = 360 SF Pay = 360 SF
0230	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	6/1/23	6/1/23	88.00	SQYD	Line 0230 Bridge Approach Slab Sta. 114430 to 114450 Sta. 1174-1136 to 1174-31.36 Plan = 110 SY Walling on QC test results for cores. Pay 80% 0.80 x 110 = 88 Pay = 88 SY					Line 0230 Bridge Approach Slab Sta. 114430 to 114450 Sta. 11741136 to 117431.36 Plan = 110 SY Walling on QC test results for cores. Pay 80% 0.80 x 110 = 88 Pay = 88 SY
0240	7034212	SLAB ON STEEL	6/1/23	6/1/23	39.00	SQYD	Line 0240 Slab On Steel: Bridge R05000R6001 Complete Pay 100% Plan = 775 SY Previous Pay = 736 SY 775 - 736 = 39 SY Pay = 39 SY					Line 0240 Slab Cn Steel: Bridge R05000R05001 Complete Pay 100% Plan = 775 SY Previous Pay = 736 SY 775 - 736 = 39 SY Pay = 39 SY

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Jun 6, 2023

Contract ID: 221118-D04

ect	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
46	0030	TYPE 1 AGGREGATE FOR BASE (4	Material		8	Jun 1, 2023	SYSTEM	\$3,204.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user malonm overridding Payment Estimate Exception 1 on the current Payment Estimate.
		IN. THICK)			8	Jun 1, 2023	SYSTEM	(\$3,204.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	FUEL	8	Jun 1, 2023	malonm	(\$67.97)	Line 0030 Type 1 Aggregate Base: Fuel Calculating for placed quantity. 285 SY -\$67.97
					8	Jun 1, 2023	malonm	\$63.68	Line 0030 Type 1 Aggregate Base: Fuel System calculated for pay quantity only. Incorrect. +\$63.68
				FUEL - Tota				(\$4.29)	
			Other Item	Adjustment -	Total			(\$4.29)	
			Price FUEL		8	Jun 1, 2023	SYSTEM	(\$63.68)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$63.68)	
			Price FUEL	- Total				(\$63.68)	
	0030 -	Total	_					(\$67.97)	
	0040	MISC.	Other Item Adjustment	ACAD	8	Jun 1, 2023	malonm	(\$234.09)	Line 0040 Optional Pavement: AC Adjustment -\$234.09
				ACAD - Tota	al			(\$234.09)	
				FUEL	8	Jun 1, 2023	malonm	(\$1,177.91)	Line 0040 Optional Pavement: Fuel -\$1,177.91
				FUEL - Tota	1			(\$1,177.91)	
				SUBI	8	Jun 1, 2023	malonm	(\$2,534.00)	Line 0040 Optional Pavement: -\$2,534.00 Pavement Thickness Deduction. QC cores 1" deficient on thickness. Measure 9" out of expected 10" total pavement thickness. The 1" out of 10" yields a 10% deficiency. Total Optional Pavement dollar amount is \$25,338.30, and a 10% deduction from this amount yields a \$2,534.00 deduct.
				SUBI - Total				(\$2,534.00)	
			Other Item	Adjustment -	Total			(\$3,946.00)	
	0040 -							(\$3,946.00)	
	0140	SEEDING - COOL SEASON GRASSES	Material		8	Jun 1, 2023	SYSTEM	\$3,125.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user malonm overridding Payment Estimate Exception 2 on the current Payment Estimate.
		GRASSES			8	Jun 1, 2023	SYSTEM	(\$3,125.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0140 -							\$0.00	
	0180	TYPE C BERM	Material		2	Mar 1, 2023	SYSTEM	\$1,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user malonm overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Mar 1, 2023	SYSTEM	(\$1,700.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
- 6	0180 -		0.1				·	\$0.00	
	0230	APPROACH SLAB (MINOR	Other Item Adjustment	ACAD		Jun 1, 2023	malonm	(\$99.49)	Line 0230 Bridge Approach Slab: AC Adjustment -\$99.49
		ROAD)			al			(\$99.49)	



Line Item Adjustments by Estimate

Contract ID: 221118-D04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3446	0230 -	Total						(\$99.49)	
	0240	SLAB ON STEEL	Material		5	Apr 16, 2023	SYSTEM	\$74,690.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user malonm overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Apr 16, 2023	SYSTEM	(\$74,690.00)	
					6	May 1, 2023	SYSTEM	\$164,010.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user malonm overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	May 1, 2023	SYSTEM	(\$164,010.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0240 -	Total						\$0.00	
	0250	TYPE D BARRIER	Material		7	May 15, 2023	SYSTEM	\$39,225.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user malonm overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	May 15, 2023	SYSTEM	(\$39,225.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0250 -	Total						\$0.00	
	0270	SHEAR CONNECTORS	Material		3	Mar 15, 2023	SYSTEM	\$4,695.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user malonm overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Mar 15, 2023	SYSTEM	(\$4,695.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0270 -	Total						\$0.00	
	5001	FURNISHING ROCK FILL	Material		3	Mar 15, 2023	SYSTEM	\$2,120.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user malonm overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Mar 15, 2023	SYSTEM	(\$2,120.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	5001 -	Total						\$0.00	
J5S3446	- Total							(\$4,113.46)	



There are no contract adjustments to display for this contract.